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A knot diagranﬂ €1 €2 ¢ €  Cr Cio C3
Ideals for irreducible component#ﬂ)f Xpar

I = (W — ™ 4+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L I*=(u —u®+... 4+ 2u—1)

(i) Arc colorings

w- (1)

1
ag = 0
1
as = _u2
U
ar = \—ud+u
—u3
a3 = \u® —ud+u
ud
ain = (ud + u)
wb —ut+1
a7 = \ —y 4 2u* — u?
wt — 3ul? + 4010 — 8 + 1
ag = \ —y'0 4 4y — 8u!? + 80 — 448 — 208 + 40t — 202
wd —2uT +ub 4+ 2ud —u
a0 =\ —u?+3u" -3 +u
w3 — 6u?t + 16w — 2007 + 4ut® + 22013 — 26wt + 64 + 9u” — 6u®
a4 = —u® + Tt =203
u?? — 10U 4+ - — Tu” + 6u°
ag = \ —u 110 + - —2u® +u
u3? — 10637 4 -+ — Tu" + 6u®
ag = \ —u* + 110 4+ —2u® +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®" + 60u*® + - - - + 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w4 4 2u 41
€2 Pt 2900 4 2u 1
s ubt = 3uS0 -+ 96u + 77
C4,C8 T T |
Cg, C10, C11 W+ 30+ 4+ 38u+5
cr w4+ w0 4+ — 1502 + 25
Co ubt + 2500 + - 4 2u 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs Pt —29y%0 4. 42y — 1
Co Yl 13y 4 — Gy — 1
€ y*t +195°° + .. — 47918y — 5929
C4,C8 Pt — 2500 4+ 42y —1
C6,C10, C11 y51 + 55y50 + .- — 386y — 25
e Yol 4+ Ty + - 4 T5O0y — 625
Co W43y 4 —6y—1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—=1C8S) Cusp shape
u = —0.909027 + 0.4472421 0.92869 + 3.493401 1.60875 — 7.127151
u = —0.909027 — 0.4472421 0.92869 — 3.493401 1.60875 + 7.127151
uw = 1.011050 + 0.1949891 —2.03194 — 0.418121 —5.90669 + 0.630671
u=1.011050 — 0.1949891 —2.03194 + 0.418121 —5.90669 — 0.630671
u= 0.836766 + 0.4457681 —0.270561 + 0.8503181 | —0.462815 + 0.7379671
u= 0.836766 — 0.4457681 —0.270561 — 0.8503181 | —0.462815 — 0.7379671
uw = —1.074180 + 0.1675291 —4.56731 — 3.828861 —9.37121 + 3.425191
u = —1.074180 — 0.1675291 —4.56731 + 3.828861 —9.37121 — 3.425191
u = —0.984457 4 0.4707791 —0.06113 + 5.088041 —0.46068 — 6.667731
u = —0.984457 — 0.4707791 —0.06113 — 5.088041 —0.46068 + 6.667731
u = —1.075750 + 0.2579281 —5.35579 + 3.645281 —10.51815 — 4.5510171
u = —1.075750 — 0.2579281 —5.35579 — 3.645281 —10.51815 4 4.551011
uw = 1.032300 + 0.4265751 —4.14364 — 2.646211 —7.99299 + 4.073531
u = 1.032300 — 0.4265751 —4.14364 4 2.646211 —7.99299 — 4.073531
uw= 1.004620 + 0.4900921 —2.26947 — 9.857751 —3.99323 + 10.367671
u = 1.004620 — 0.4900921 —2.26947 4+ 9.857751 —3.99323 — 10.367671
uw=0.060601 + 0.8703921 —7.17725 4 8.763701 —4.62718 — 5.863721
u = 0.060601 — 0.8703921 —7.17725 — 8.763701 —4.62718 4 5.863721
u= 0.032672 + 0.8717481 —8.95121 + 0.595621 —7.09212 + 0.327301
u= 0.032672 — 0.8717481 —8.95121 — 0.595621 —7.09212 — 0.327301
u = —0.052236 + 0.8586481 —4.58264 — 3.826451 —1.55259 + 2.332201
u = —0.052236 — 0.8586481 —4.58264 + 3.826451 —1.55259 — 2.332201
u= 0.821385 —1.34152 —6.99070
u = —0.026625 + 0.8031661 —2.30918 — 2.294081 —0.51230 + 3.479461
u = —0.026625 — 0.8031661 —2.30918 + 2.294081 —0.51230 — 3.479461
w=0.635709 + 0.4740371 0.27984 — 4.752841 0.98705 4 6.796111
u= 0.635709 — 0.4740371 0.27984 4 4.752841 0.98705 — 6.796111
u = —0.553405 + 0.4477231 1.91457 + 0.333231 4.99514 — 0.715431
u = —0.553405 — 0.4477231 1.91457 — 0.333231 4.99514 + 0.715431
uw= 1.216530 + 0.4496351 —5.95571 — 2.150271 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 1.216530 — 0.4496351 —5.95571 + 2.150271 0
u = —1.216530 + 0.4696831 —5.81085 + 6.892151 0
u = —1.216530 — 0.4696831 —5.81085 — 6.892157 0
w=1.247240 + 0.4346211 —8.51754 — 0.715181 0
u=1.247240 — 0.4346211 —8.51754 4+ 0.715181 0
u= 0.372815+ 0.5670711 —0.52649 + 5.644401 | —0.46144 — 5.749901
u= 0.372815 — 0.5670711 —0.52649 — 5.644401 | —0.46144 + 5.749901
u = —1.254950 + 0.4300171 —11.18690 — 4.206091 0
u = —1.254950 — 0.4300171 —11.18690 + 4.206091 0
u = —1.234600 + 0.4882941 —8.12762 + 8.673821 0
u = —1.234600 — 0.4882941 —8.12762 — 8.673821 0
u = —1.253400 + 0.4467391 —12.85550 + 4.061201 0
u = —1.253400 — 0.4467391 —12.85550 — 4.061201 0
uw=1.238160 + 0.4942031 —10.7190 — 13.67451 0
u= 1.238160 — 0.4942031 —10.7190 4 13.67451 0
uw=1.243900 + 0.4813641 —12.60200 — 5.441501 0
u=1.243900 — 0.4813641 —12.60200 + 5.441501 0
u = —0.402436 + 0.5019681 1.52817 — 1.075201 3.83656 + 1.339851

e
|

—0.402436 — 0.5019681

1.52817 + 1.075201

3.83656 — 1.339851

S
\

0.194561 + 0.5293941

—1.92663 — 1.106601

—3.70247 + 0.776391

u =

0.194561 — 0.5293941

—1.92663 4 1.106601

—3.70247 — 0.776391




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢s W S 4 2u 1
€2 uPt + 2907 4 2u 1
c3 uPt — 3u0 4 4 96u + 7T
C4,C8 W0 w21
C6,C10, C11 w + 30+ +38u+5
€7 ut w0 4 — 15u% 4+ 25
€ uPt + 250 + -+ 2u+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C5 gt —20y°0 .. 42y —1
o WPl 1370 4o — 6y — 1
€3 Yol +19y%0 + .. — 47918y — 5929
¢4, C8 Pl =250 4+ 2y —1
Ce €10, C11 y*r +55y° + - — 386y — 25
“ Y+ Ty 4 -+ 750y — 625
C9 Wl 3y 4 Gy —1




